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i The diagram below represents an organ of gaseous exchange

a) What is the name of the organ ........0... L.... Jreeneesse e
S
dowe e pat Idelled =
b) Name the class to which th i e the or i i in (a)

above belongs Q . Q\\\ T‘Q\Ze)‘ ?-"‘Y‘exec_—i" e 1 (link)
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c) State one way in which structures X is adapted for gaseous exchange (1mk)

questions that follow

a) From which part of the plant was the section obtained from (1mk)
RooT .
b) Give a reason for your answer in (a) above (1mk)
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c) Name part B (Imky-
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d) Name the material that strengthens the part you named in (c) above. (Imk)
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3. The diagram below represents a cell organelle
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i) Name the organelle above (}mk)
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ii) State its function {1mk)
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i) Identify the structures labeled X and state it’s functions ’_* " Ekas)
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4. How does carboxyhaemoglobin lead to death?
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(b) Which chemical would you use to test for presence of vitamin C in a food substance”CR Lk—)
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6. Name the processes by which the following enter the root hair cell.

(a) Oxygen. (1 mark)
B T OO —

(b) Water. (1 mark)
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7. Tom, a form two students set up the apparatus shown below to demonstrate the breathing
mechanism in a mammal.

Rubber stopper

glass tube

——— Bell jar

Balloon
fe
é (R Rubber sheet
String
(a) What structure in a mammal is represented by each of the following? (2mks)
i) Glass tube
\-\ /
\roched:

ii) Rubber sheet
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8. a) state the most suitable biological tool for collecting the following organisms:-

i) A moth from a coffee farm. (1mk)

.............................................................................................................

9.a) An organism was found to have a dental formula

i0 c¢c0 pm3 m3

3 1 2 3
1) State the mode of feeding of the organism. (1mk)
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ii) Give a reason for your answer in (i) above. (1mk)
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10 a) State one advantage of double circulation oyer single circulation‘.og\i\'r‘\eég (Imk) \ /
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11. The oxidation of a certain food is represented by the chemical equation shown below:

2 C 51H 530 ¢ + 1450, —* 102 CO, + 98H,0 + Energy
a) Calculate the respiratory quotient (RQ) of the food.
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b) Identify the food oxidized.

12. List four factors that affect respiration
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14 .Study the reaction below and answer the questions that follow.

Glucose Fructase =
a) What biological processes are represented by A and B? (Zmk)
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b) Identify the product Y. {1mk)
L
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c) State the bond represented by X. (1mk)
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15. Explain what happens durmg the hght stage of photosynthems (3rnks)
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a) What is the aim of the experiment

E p. c\\m é&hﬂé&\we ' wofvz\ Qi\?-\q\_ﬂ\@ ‘el

}N\V Trowds_J Rirseseta
-/ oo vel edpire

d) After several days, account for the results that will be observed in flask A.
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18. State the importance of the following features in gaseous exchange.

(i) Cartilage in trachea and bronchus. m\
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19. The diagram below illustrates a blood capillary surrounding a structure for;
human beings ’t'o c’t\& fl‘UW\ & ‘1

Red ceil From pulmonary artery.

Capillacy Epithelium

a) Name the gaseous exchange structure. (1mk)
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b) Identify the gases labeled Y and Z (2mks)
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¢) How does labeled Y reach the inside of the blood capillary? (3mks)
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20. Name the respiratory surfaces of the following organisms: .
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21. The relative rates of photosynthesis in a certain plant were determined at different temperatures. The
results were as shown in the table below.

Temp. °C Relative rate of photosynthesis (mg/hr)
25 20
30 70
35 100
40 25

Account for the rate of photosynthesis at

(i) 35° C

(a) Chloroplast

cona Gowond g \“\DCQQ}%wt\Q .................................................. Wi 3"?‘“

b) Spongy mesophyll cell N (1mk)
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